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18 A Handbook of Paragraph Writing

4. In each paragraph below,,find out the sentence whlch
does not actually belong to it:- :

: a) House construction in different parts of the world
mainly depends on the availability of building materials.

For example, the Eskimos build their houses with blocks of
ice, because in their region nothing except ice is-available.
On the other hand, people living in the deserts use mud or
clay to protect them from the heat. Their food habit is also
different from that of others. In the areas of woods and
forests, people usually make their homes out of wbod.
Similarly, in some places houses are made of bamboo. So
the construction of houses is subject to the materials
available in the region concerned. '

b) Biological science has two- branches. .One
branch is Botany which deals with the life of all kinds of
plants. Chemistry is concerned with matter in. its different
forms. The other branch is Zoology. It involves the study of
animals. Both Botany and Zoology are concerned with the
study of life but one’s field is different from the other’s.

5‘.

‘The Context Modulator

The term ‘modulator’ is derived from its verb form
‘modulate’ which means ‘to adapt or adjust’. So the function of
a modulator is to adapt or adjust one thing to another. (In
music, however, modulation. means changing or passing, from
one key to another.) If you need to express two different sets of
ideas in your paragraph, you will require a context modulator
to adjust them. It is-a sentence which provides :a transition
between the different sets of ideas. It is through:this sentence
that you will pass. from one group of developers to the other. It
is, therefore, a kind of bridge between two sets of ideas.

As 'far as jits function is concér'ned,- the context

~ modulator does not appear in every paragraph. It occurs only in

those paragra.phs’ which- contain more than one group of
developers. It, is, therefore, -an additional element of a
paragraph. You certainly know that the essential elements of a
well written paragraph are its topic sentence. developers and
terminator.

The very- topic suggesuon of a paragraph will tell you

ywhether it will need a context modulator or not. For example,

you are asked to write a paragraph on “The Amenities of Town
Life”. This obviously suggests that your paragraph will contain
only one kind of developers. All of them will belong to one
group only and they will describe the pleasant things of town
life. So in writing this paragraph, you will not require any
context modulator. On the other hand, if the topic suggestion is
“Advantages and Disadvantages of a Joint Family”, it is clear
that:some of your developers are to be about the advantages of
a joint family and some about the disadvantages. Obviously,
you have to mcorporate two separate groups of developers.
First, you will list some advantages in one group and then some
disadvantages in another group and between these two groups
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you will have to write a transition sehtence to connect the two
different sets of ideas. If you do notuse this transitional device,
your jump from one thing to another will be risky and abrupt
and thereby your paragraph will lose an important element.

Here is a paragraph with two sets of ideas. There is a
context modulator in it. As you read the paragraph, try to
understand where and how the transition takes place.

‘Nature and Source of the Major Food
' Elements L ;

We need three major food elements to keep
our body strong and healthy. In the very first
place, we need protein which is a nitrogenous
compound found in the fluids and tissues of all
living organisms. Secondly, we require fat. It is an
oily and greasy substance. Thirdly, we are in need
of carbohydrate, a compound of carbon, oxygen
and hydrogen. We obtain these elements from
various sources. For example, protein comes fiom
meat, fish, milk and eggs. On the other hand, fat is
obtained from both vegetable and animal sources
and carbohydrate is generally derived from fresh
fruits, vegetables and cereals. So if our diet is
sufficiently varied, it will pf“bVide us with all the
essential vitamins and minerals. ;

You must have noticed that this paragraph contains two
sets of ideas. In the first set, the three major food elements are
named and their nature is described. On the other ‘hand, the
second set deals with the sources of these three elements. And
in order to connect these different sets of ideas we have used a
context modulator, namely “We obtain these elements' from
various sources.” It has provided a smooth transition from the
first group of developers to the second.
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MAIN POINTS
1) The function of a context quulator is to provide a
transition between two sets of ideas. - i i
ii) It occurs only in those paragraphs which contain
more than one set of ideas. ; ’

| » ;
VOCABULARY ENRICHMENT
" amenities - things that make life easy or pleasant
cereals — any kind of grain used for fqod.. :

' (to) derive from — have as a source Qr'ongln ;
device — something adapted for a special purpose
diet — sort of food eaten by a person :
fluid - liquid substance : ;
greasy — covered with grease; slippery
key — scale of notes ’
organism -- individual animal or plant
tissue — mass of cells :

‘topic suggestion — title ; e
transition — changing from one condition to another
varied — full of variety; of different sorts

 EXERCISES

1. Identify the context modhlafor in the following ‘
paragraph:- ; ot
Merits and Demerits of student Politics

Everything has its merits and demerits. So has
student politics. So far its merits are concerned, by
practising ‘politics students can train themselves for the
future administration. Secondly, being a great forcg .they
can have a positive influence 'on the Government activities.
Moreover, under the banner of their party they can
participate in various national programmes. But these

" merits are often outweighed by its glaring demerits. As we

see now-a-days, students are badly used by th_e politic_:al
leaders for their selfish gains. They are often equipped with




rﬁ'—

2z : A Handbook of Paragraph Writing

arms and hence they engage themselves in- serious

clashes. Moreover, the political activities of students badly

destroy their academic career. So when we think of student
politics, we must think of both its good and evil.

2. Read the followi_ng paragraphs and insert a context
modulator in each if and where it is necessary:-

a) The plan of the village school was good but
unsuccessful. If it had been implemented, the small
children would not have to walk to the distant school of
the neighbouring village. As a result, more children would
take the chance of educating themselves. The first
reason of its failure is that the members of the governing
body of the proposed school were divided in their
opinions.: Secondly, the villagers could not ensure the
requisite financial support for the implementation of the
programme. That is why the hopes for having a new
school could not materialise. :

b) An arranged marriage has its advantages and
disadvantages. The first happy thing about it is that you
can please your guardians by marrying a man/woman of
their choice. Secondly, you can expect that the selection
of your spouse by your guardians, will be more
reasonable than yours. Moreover, you can enjoy the thrill
of meeting an unknown person after your marriage. The
first problem is that you yourself may feel unhappy if the
guardians do’ not value your opinion. Secondly, in most
cases arranged marriages are determined by a dowry.
which causes sheer unhappiness in the married life.
Moreover, the spouses previously unknown to each other
may find it very difficult to build up a mental adjustment.

‘We can, therefore, see that arranged marriages have
both merits and demerits. :

6

TECHNIQUES OF“PARAGRAPH DEVELOPMENT

“Techniques of Paragraph Dev-elopment” re:fers to thﬁ
various methods of developing a topic sentence into a wt;
organised paragraph. In other. words, it 'refers toh 13
organisation of the developers in a paragraph. You sdou ;
remember that this organisation of the developgrs QCpen fst(l)1
their function and is determined by the cpntrplhng idea S the
paragraph. For example, “Qualities of a Good Teache}r1 1sita
topic suggestion and if you are asked t?‘wrlte a parag;ap }(l)nul(i
your topic sentence will probably be .A g_ood.tfaac er s 01
have at least five qualities” or som.ethmg h.ke this. ObV1<l)luf Y,
‘five qualities’ is your controlling idea Whl?h suggests';fa ,111
the developers you are required to make a list of five different

~qualities a good teacher should possess. And this listing of

things maintaining the sequence in a logical Qrder is one of ttcl)c;

techniques of paragraph development. You should a;ranglcz’ Ky

orgahise your developers in such a way as to make t errlx

like a list. In the same way, if the functlop of your developers

is to make a comparison between two things, you should ﬁe |
the technique of comparison to organise your developers. hs

the functions of the developers in dlfferenF kinds of Para%rapbs

are different, the techniques to be used in them will also be

different. ‘ . . »
Here are two paragraphs showing two different
techniques:

_Foreign Words in English

(a) There are numerous English words whif:h
have non-English origins. For exam-ple, while
relaxing at home, Americans sometimes \-m_ear
kimonos which is a Japanese word. People living
in a temperate climate may o_ftep take an



